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Example 3: £
0 Given the graph 0f<-..,—- f_v Descrlbe and sketch the graph of the transformations
represented by y £ 4 f(— (x + 1)) - O WML .
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Example 4:
Given the graph of'y = v/x. Déscribe and sketch the graph of the transformations

represented by y — 2 = —/3x + 3. ( . L
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Example 5:

Given the graph of y = vx . Describe and sketch the graph of y +3 = 2v—x — 4.
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Example 6: r
The graph of a functiois transformed as described below. Write the equation
__cé_f_;be imaage graph in terms of the function f ﬁ@_,k_‘
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translation of 0.5 units right and 4 5 units up.
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- Example 7:

a) Determine as equation for g(x) of the form y — k = af (b(x — h)) given the graphs of
¥y = f(x) and of the transformed function y = g(x).
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‘ b) Determine an equation for g(x) of the form y — k = af (b(x — h)) given the graphs of
y = f(x) and the transformed function y = g(x).
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Assignment Time! Work on p.226- 3 — 10 (not 10c), 12, MC 1&2
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